AL 5IE DISE 249 3 D OBY; OF FORTRANHYKR
A (A(I),I=1,10) DO 1 1=1,10
a=A(CI1)
1 CONTINUE
B ((B(1,]),1=1,5), DO 2 J=1,5
J=1,5) DO 2 I=1,5
a=B(I, ])
2 CONTINUE
C (C(c(1, J,K), I=1, DO 3 K=1,5
6), J=1,7),K=1,5) DO 3 J=1,7
DO 3 I=1,6
a=C(I, J,K)
3 CONTINUE

3. DOBNGUMSIEEINIZEEIZ, - 8WNEIDH » IWITH 3D OB TR I M- HIEAESH D
B 6 & ST 3IEIC/L S,
(#l) DOENCDIER

D O ® ¥ o FORTRANMHEYER

(ACI), I=1,10) DO 3 I=1,10
a=A(1)

3 CONTINUE

((B(I,J)»J=1,5) DO 4 I=1,10

I=1, 10) DO 4 J=1 5
a=B(I,])

4 CONTINUE

(C(I),D(I,K), I=1,10) DO 5 I=1,10
a=C(1)
a=D(I K)

5 CONTINUE

(CE(I, J),I=1, 100, 2), DO 6 J=1,K

F(J,6),J]J=1,K) DO 7 I=1, 100, 2
a=E(I,])

7 CONTINUE
a=F(],6)

6 CONTINUE

(M(I.J,K),I=1,7), DO 8 K=1,

J=1, 5),K=1,3) DO 8 J=1,
DO 8 I=1,
a=M(1,],K)

8 CONTINUE

(X(I),Y(I),I=N,N,K DO 9 I=N,N,K
a=X (1)
a=Y(I)

9 CONTINUE
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